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Answer either in English or in Assamese

1. Answer the following questions (any ten) :
1x10=10
o9 2P Tel v (R i weht)
(a) What is ordinal utility?
TGS oo f$ 2

(b) State the law of equimarginal utility.
SR Gecaiener I Srary <41 |

(c) Define indifference map.

R [YR T=haR Aige 3 |
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(d) What is the marginal rate of substitution
between two perfectly complementary
goods?

o1 A “ReFF AR cwae afFF aAforEs T
2397

(e) What is substitution effect?
AfSew R & 2

()’ Mention the ‘Giffen paradox’.
TIceF=a 1’01 ey 341 |

(g9 What is meant by production?
s oA & @ 2

(h) Give one example of implicit cost.

AP IR 901 Sz fra o

() What is meant by a person be risk lover?

I G&/F *5FT RS A & W 2

() Why is the long-run average cost curve
U-shaped?

T 1 I @O U-S$ied fF7 2 2

(k) What is iso-cost line?
SRR Q@K1 %2
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() How do you calculate the marginal rate of
technical substitution?

Jifee afere «fessd 3R off @M S
312

(m) Draw an isoquant curve for perfect
complements of factors.
o “AfReTT TAMAR QU FH-BRARA I SH
41|

(n) Mention one important reason for
decreasing returns to scale.
FREPHEM T TAR 961 S FRI TrEy
411

(o) Define variable factors.

AfRgSTE SAMEI A T |

(p) What are iso-utility curves?
SY-Teaierel AP < &2

(g9 Why is average revenue curve of a firm
under perfect competition horizontal?

o efSfieee T&RY AfCHH GOR TC AW
@91 o S = ?

() Why are selling costs not incurred in
perfect competition?

A efecafrerEe Tus RF I &7 731 742
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2. Write short answers of the following questions
(any five) : 2x5=10

Sorq 2pARd v Ted fra (A e #Amwht)

(a) What is meant by the slope of an iso-cost
line?

S (@1 GO e e ¢ 3o 2

(b) Distinguish between gross demand and
net demand.

T IfRA W< 5 Bl qrere #{1(<5 fefy 41 |

(c) Can we apply the law of diminishing
marginal utility to money? Give reason.

FRPEF  Afee Teirer R[{fEct it que
CFIS AT FRI 1A 2 I oz |

(d) State Slutsky’s equation.

BT FRFIICO! Sy 41 1,

(e) If B=x-P.+y-P,, where B represents
money income of the consumer, P, and

P, represent prices of goods x and y

respectively, find the slope of the
equation.

Ift B =x- P, +y- P, ™, TS B 2’7 TS[&N
S, P, SI¥ P, ¥ & x HF y TI9 T,
FNPICOE blef Sfeqea |
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() Show that average cost 1is the
combination of average fixed cost and
average variable cost.

(ST @ T T VT e T I e e
“ffSqGTAel AL C5F |

(g) What is strong ordering?

“fEra @ 2

(h) Distinguish between risk-averter and
risk-neutral individuals.

(- WE XA ?ﬂﬁ RIS
“{12f<py A3 <41 |

(i) State the two conditions for equilibrium
of firm under perfect competition.

o4 aAfScafrorEe TS AfodFE SIPTHR 79

wo1 SeeY 1|

() What is a marginal firm?

wAifes 2fowH 62
3. ‘Answer the following questions (any four) :
5x4=20

o 2PIARR Sed fran (R e wif<on) -

(a) Briefly explain the principle of
diminishing marginal rate of
substitution. What role does it play in
shaping indifference curves? 3+2=5
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TP At afess 3 TS 5 1w
1 | R @1 s AR ovae 2 e

el ¥ ?

(p) What is income-consumption curve?
Derive income-consumption curve for
normal goods. 1+4=5
E-Tcels Q@ 7 Fefke THAR SmE-
TATSIof (IS W29 F41 |

(c) Explain the revealed preference
hypothesis. 5]
AP PR AFHCO! 701 F47 |

(d) Fill in the blanks in the table below :

1+1+1+2=5
O] SIfefPI4Aa e 912 49 4
Output Total Total Total Average Average
Besrs | cost (¥) fixed variable fixed variable
73 cost (¥) cost (¥) cost (¥) cost (¥)
wE) | PRI | PR | R | 7T 4R
77 (531) 7 (531 77 (531) 7 (031)
0 50 = - = —
1 70 — = = ==
2 100 — - — =
3 120 — — — —
4 135 = = = —
5 150 — — — =
6 160 — — — -
7 165 — — — —
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(e) Examine the following data on outputs
and inputs. What type of returns to
scale does it represent and why? Give
arguments : 2+3=S

woe il S Wi H(fRAR SAPIHR AR
| R @R T T@R 2 afeffdg sk

e 72 I faan -
Capital (3547) (K) | Labour (¥) (L)| Output (E<*T7) (Q)
5 8 3
10 16 6
20 32 12
40 64 24

(/) What is expansion path? Derive
expansion path with the help of diagram.
1+4=5

SEMRE 29 F 7 Oa’ SEe 2R Y2 S=34
41 |

(g) Derive average fixed cost curve from total

fixed cost curve. S
P %3 W @R 7 e BRI @ =3
41 |

(h) Can a firm under perfect competition
operate in the short-run when it is
making losses? If so, explain the
condition with the help of diagram. 1+4=5
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o9f sfeciegse e 2FerEe 9ol AfSH
IR A 2°cee Seeqme I ez Al
AT 2 I AR, Sz Af[fRfe P szEs
777 40 |

4. Answer the following questions (any four :
10x4=40

wed 2R Ted i (R e wif?on) -

(a) With the help of indifference curve
analysis, derive individual and market
demand curve. 6+4=10

ffReers @ Reggear e Ife oifzn @1 o<
IH[ G @1 =239 471 |

(b) Explain Slutsky substitution effect for a
rise in price and for a fall in price.
S5+5=10
7Y I S 9N ZPR CFae Whnd dfess R
G 41 |

(c) What is meant by inter-temporal
choice? Explain inter-temporal choice of
consumption. 2+8=10
TESHES®  RM I [ |me? EIR

HEBAFINS A=Y I 941 |
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(d) State and prove Samuelson’s
fundamental theorem of demand.
Mention any two limitations of the
theorem. 8+2=10

YRR (e BIf2w ©geo1 TEy Fq1 WA
QI 40 | SGOR A @I 01 ATEwel SEy
4 |

(e) What are the assumptions of N-M utility
function? How can N-M utility index be
constructed to explain the choices by an
individual under risky and uncertain
situations? Explain. 2+8=10
N-M Tecaferel waer sfsqmamez & & 2 =fe-
w1 @ Srorel ffEfee afea rw qrm
A N-M SAQfere S @emed 515 IS
o] 2 2910 11

() State the law of diminishing returns.
Why do diminishing returns to a variable
input occur eventually? Can they become
negative? If so, why? 4+3+2+1=10
FEPEE e REGT Tmw I 9o
ARTETE  SAMER  CFAS RPN ST
SReES 3 W2 3 4INe 28 AR ? A
*1eq, 392
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(g What are increasing returns to scale?
Show them on an isoquant map. Explain
the causes of increasing returns to scale.

1+5+4=10
SR e @ 2 A9-Sedme JefoE
RAS (Y81 | FHRIEIA A TR FEPTR
17T F7 | |

(h) Define marginal cost. How is it related to
marginal product of a factor? As output
is increased, marginal cost first falls and
then beyond a certain point it rises. How
would you explain it? 1+5+4=10

Afes IFA iw frm 1 @b MR AfRe
T TS WR  (RFCAFAl T R ?
e @foq Ifa AE, AT W ALYTCS 2P A
e 9o e R e R 3@ <m0 T o
FCTCE TT R0 2

() What is meant by firm’s equilibrium?
Explain how a firm arrives in equilibrium
in the short-run. 2+8=10

Af PR S Wed T/ 2 2FFES AP
B2 (FCATCI S =S F¢d, W1 341 |
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() Distinguish between market price and
normal price. Explain the determination
of market price in the very short period
under perfect competition. 4+6=10

IGE 71 HF TS 791 e 12y [y 347 |
Ao efSarerae Tare WS gFere W W
e afemm mm <4 |
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